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PRACTICE

I: Let y = f(x)be a function with f(1) = 4 such that for all points (x, y) on the graph of

2
y = f(x) the slope is given by 3x2 *l .

A. Find the slope of the graph of y = f(x) at the point where x = 1.

B. Write an equation for the line tangent to the graph of y = f(x) at x=1 and use it to
approximate /{1.2)

C. Starting at the point (1, 4), use Euler’s Method with step size Ax =-1.0to approximate f(-—1)
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2: Consider the differential equation given by jy = 7"’ ' -
I

A. Let y = f(x)be a particular solution to the given differential equation with initial condition

S(0) =3. Use Euler’s method starting at x = 0, with step size 0.1, to approximate £(0.2). Show
the work that leads to your answer.

B. Starting at the point (0, 3), use Euler’s Method with step size Ax =1/3to approximate f(1).

C. Find the particular solution y = f(x)to the given differential equation with initial condition

F(0)=3.
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3. Consider the differential equation T = y+x with »(0)=1. !
X [
A. Use a linearization centered at x = 0to approximate »(1.2). 7 12
: LY O
B. Use Euler’s method starting at x = 0 with step size Ax = 0.4 to approximate y(1.2). T 7'
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